Sr Questions Answers Choice

LAN
MAN
WAN
Done

1 Which type of network is the internet

Bridges and gateway
Routers

Backbones

MANs

2 Crossing one LAN to another LAN is done over

Network adapter cards
LAN cables

LAN application software
ALL

3 A LANis a combination of

Cable
Gateway
Bridge
Modem

4 Which of the following is not a component of LAN

Local area nodes

Logical arrangement of network
Local area network

Linked area network

5 LAN stands for

Bus
Server
Node
None

6 Each computer on a network is called a

Processing
Network
Chatting
Centralized

7 A collection of computer connected together is called

Scanner
Printer
Monitor
Speaker

8 Which of the following is not an output device

. System software

. Application software
Both aand b

. Systematic software

9 An image viewer is an example of

Scanner

Digital camera
Bar-code reader
Plotter

10 Which of the following is not an input device
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. Less than 50
Up to 100
Up to 500
Up to 600

11 Pins on the head of a dot-matrix printer

Liquid
Power
Gas
Solid

12 Ink used in laser printers in the form of

. Monitor output
Paper output
Both aand b
All of above

13 Hard copy output refers to

A bit

A nibble
A byte
Zero byte

14 Smallest unit of memory is
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. Improvements

. Keep system working
C. Adopt changes

D. All of above

15 Maintenance phase includes






